DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, CHHATRAPATI SAMBHAJINAGAR [M.S.] INDIA.



ORDER OF AMENDED ORDINANCES FOR AFFILIATION FEE/ 150,151,152,152 A & 152 B/ 2025.

WHEREAS the Committee appointed by the Authorities of the University to amend the Ordinances relating to affiliation fee for opening of new colleges, first affiliation, continuation of affiliation, extension of affiliation and permanent affiliation to the affiliated colleges.

AND

WHEREAS the report of the said committee is accepted by the Hon'ble Vice-Chancellor and directed that to place the same before the Academic Council & the Management Council for further discussion.

AND

WHEREAS the report of the said Committee is accepted by the Board of Deans and recommended to the Academic Council for consideration.

AND

WHEREAS the meeting of the Academic Council is held on 09-05-2025 has accepted the said amended ordinances to apply to the affiliated colleges.

AND

WHEREAS the Management Council at its meeting held on 26.05.2025 has accepted the <u>amended ordinances 150, 151, 152 & 152 [A] and 152 [B] relating to revised affiliation fee to apply to the affiliated colleges from the academic year 2026-2027.</u>

AND

WHEREAS the Academic Council has considered the amended ordinances relating to fee for opening of new colleges, first affiliation, continuation affiliation, extension of affiliation and permanent affiliation fee.

AND

THEREFORE, I, PROF. (DR.) VIJAY FULARI, VICE-CHANCELLOR of Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar has given approval for the amended ordinances relating to revised affiliation fee for Colleges shall be implement from the academic year 2026-2027 and enforce from the date of the Management Council held on 26.05.2025.

AND

THESE, directives shall be operative till such time and date as amended ordinances is to be assented by the Hon'ble Chancellor.

University Campus, Chhatrapati Sambhajinagar-431 004. REF.No. Am.ORD./AFFI.FEE/01/2025/1566

Date: 19-08-2025.

Prof. Dr. Vijay Fulari,

--2--

Copy forwarded for information and necessary action to:-

- 1] The Director, Higher Education, Pune.
- 2] The Director, Technical Education, Mumbai.
- 3] The Heads of University Departments & Sub Campus, Dharashiv.
- 4] The Principal, Autonomous Colleges, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar.
- 5] The Principal, All Affiliated Colleges, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar.
- 6] The Director, Recognized affiliated Institutions,
- 6] The I/C Post Graduate Centers of affiliated colleges,
- 7] The Director, UNIC, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar.
- 8] The Deputy Registrar, [Establishment Section],

Copy to :-

- 1] The Finance and Accounts Officer, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar.
- 2] The Deputy Registrar, [Academic Section],
- 3] The Record Keeper, Dr. Babasaheb Ambedkar Marathwada University

--=**=--

O*190825/-



DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, CHHATRAPATI SAMBHAJINAGAR

Statement showing the first affiliation fees and annual affiliation fees pertaining to Revised Ordincance-150 for Opening New College and under extension for New Division / New Course / New Faculty for Academic Year 2026-27 to 2030-31.

O.150:- Annual and First Affiliation fees remittance by management of affiliated colleges

/ Recognized Institutions after obtained the permission from Government of

Maharashtra for Under Graduate and Post Graduate Course as per mention in following table.

[A] Under Graduate Courses: [Fees for Per Course up to 2 Divisions/ 1 Branch]:

Sr. No.	Name of Course	Name of Faculty	Per Course Revised Fees (up to 2 Divisions/ 1 Branch)	Per Course GST 18% Amount (up to 2 Divisions/ 1 Branch)	Per Course Total Fees (up to 2 Divisions/1 Branch) (Inclusive of 18% GST
1]	Arts & Social Sciences	Humanities	₹. 23,625/- Per Course	₹.4,253/-	₹.27,878/-
2]	Commerce	Commerce and Management	₹. 23,625/- Per Course	₹.4,253/-	₹.27,878/-
3]	Science	Science and Technology	₹. 28,875/- Per Course	₹. 5,198/-	₹. 34,073/-
4]	Bachelor of Vocational Science (B.Voc.)	Respective Faculties	₹. 30,250/- Per Course	₹. 5,445/-	₹. 35,695/-
5]	Education	Inter- disciplinary Studies.	₹. 55,000/- Per Course	₹. 9,900/-	₹. 64,900/-
6]	Physical Education	Inter- disciplinary Studies.	₹. 41,250/- Per Course	₹. 7,425/-	₹. 48,675/-
7]	Law	Inter- disciplinary Studies.	₹. 55,000/- Pre- Law Five Year Course &	₹. 9,900/-	₹. 64,900/-
	[800,000 00] [800,000 00]		₹. 55,000/- Degree Course	₹. 9,900/-	₹. 64,900/-
8]	Management Science	Commerce and Management	₹. 55,000/- Per Course	₹. 9,900/-	₹. 64,900/-
9]	Engineering	Science and Technology	₹. 68,750/- Per Branch	₹. 12,375/-	₹. 81,125/-
10]	Architecture	Science and Technology	₹. 68,750/- Per Branch	₹. 12,375/-	₹. 81,125/-
11]	Pharmacy	Science and Technology	₹. 1,10,000/- Per Branch	₹. 19,800/-	₹. 1,29,800/-
12]	Fine Art	Inter- disciplinary Studies.	₹. 34,375/- Per Course	₹. 6,188/-	₹. 40,563/-

:: 2 ::

[B] All Post Graduate Courses [Fees for Per Course]:

Sr. No.	Name of Course	Name of Faculty	Per Course Revised Fees (Up to 1 Division/ 1 Branch)	Per Course GST 18% (Up to 1 Division/ 1 Branch)	Per Course Total Fees (Up to 1 Division/1 Branch) (Inclusive of 18% GST
1]	Arts & Social Sciences	Humanities	₹. 13,125/-	₹. 2,363-	₹. 15,488/-
2]	Commerce	Commerce and Management	₹. 19,688/-	₹. 3,544/-	₹. 23,232/-
3]	Science	Science and Technology	₹. 26,250/-	₹. 4,725/-	₹. 30,975/-
4]	Education	Inter-disciplinary Studies.	₹. 34,375/-	₹. 6,188/-	₹. 40,563/-
5]	Physical Education	Inter-disciplinary Studies.	₹. 27,500/-	₹. 4,950/-	₹. 32,450/-
6]	All Professional Courses	Course wise respective faculty's	₹.1,37,500/-	₹. 24,750/-	₹. 1,62,250/-
7]	LL.M.	Inter-disciplinary Studies.	₹. 34,375/-	₹. 6,188/-	₹. 40,563/-
8]	M. Voc.	Science and Technology	₹. 20,625/-	₹. 3,713/-	₹. 24,338/-

NOTE:-

- The First Affiliation Fee and the Annual Affiliation Fee SHALL BE REVISED FOR EACH
 ACADEMIC YEAR from 2027–28 to 2030–31, with an annual increase of 2%
 It should be re-consider for every FIVE YEARS at the time of publishing 'Five Years Perspective Plan' of the University.
- 2. The university shall have an additional fee of ₹. 15,000/- (+ 18% GST Separate) towards the Academic and Administrative Audit (AAA) for a period of three years.
- 3. The university shall have an additional fee of ₹10,000/- (+ 18% GST Separate) towards the No Objection Certificate (NOC) of AICTE. (Ord. 152 [B]
- 4. As per Ordinance 150(A) for Under Graduate courses, the aforementioned affiliation fee covers only Two divisions or One branch. Thereafter, an additional fee of ₹. 6,490/- (inclusive of 18% GST) shall be charged for EACH additional Division or Branch.
- 5. As per Ordinance 150(A) for Post Graduate courses, the aforementioned affiliation fee covers only One division or One branch. Thereafter, an additional fee of ₹. 6,490/- (inclusive of 18% GST) shall be charged for **EACH** additional Division or Branch.
- 6. There will be an annual increase of 2% in the fees effective from the upcoming academic year 2027-28. This increment will be applicable at the beginning of each academic Year.



DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, CHHATRAPATI SAMBHAJINAGAR

Statement showing the processing fees pertaining to Revised Ordincance-151 for Opening New College / New Course / New Division / New Faculty's / Recognized Institutions for academic **Year 2026-27 to 2030-31.**

O.151:- Processing fees remittance by management of affiliated colleges / Recognized Institutions for opening New College / New Course / New Division / New Faculty's as per mention in following table.

Sr. No.	Name of Course	Name of Faculty	Revised Fees Per Course/ Branch	GST 18% Per Course/ Branch	Total Fees Per Course/ Branch (Inclusive of 18% GST)
1]	Arts & Social Sciences	Humanities	₹. 65,625/-	₹. 11,813/-	₹. 77,438/-
2]	Commerce	Commerce and Management	₹. 65,625/-	₹. 11,813/-	₹. 77,438/-
3]	Science	Science and Technology	₹. 98,438/-	₹. 17,719/-	₹. 1,16,157/-
4]	Vocational Courses	Science and Technology	₹. 27,500/-	₹. 4,950/-	₹. 32,450/-
5]	Education & Physical Education	Inter-disciplinary Studies.	₹. 7,56,250/- Per Course	₹. 1,36,125-	₹. 8,92,375/-
6]	Law	Inter-disciplinary Studies.	Rs.4,12,500/- Pre Law of Five year Course &	₹. 74,250/-	₹. 4,86,250/-
			₹. 4,12,500/- Per Degree Course	₹. 74,250/-	₹. 4,86,250/-
7]	Management Science For M.B.A.	Commerce and Management	₹. 7,56,250/- (New College)	₹. 1,36,125-	₹. 8,92,375/-
1-2-1-	27.2		₹. 2,75,000/- (New Division)	₹. 49,500/-	₹. 3,24,500/-
8]	Engineering	Science and Technology	₹. 8,25,000/- (New College)	₹.1,48,500/-	₹. 9,73,500/-
			₹. 2,75,000/- Per Branch	₹. 49,500/-	₹. 3,24,500/-
9]	Architecture	Science and Technology	₹. 4,12,500/-	₹. 74,250/-	₹. 4,86,750/-
10]	Pharmacy	Science and Technology	₹. 4,12,500/-	₹. 74,250/-	₹. 4,86,750/-
11]	B.C.A., B.B.A. and Other Under Graduate Courses for Management Faculty.	Commerce and Management	₹. 5,50,000/- Per Course	₹. 99,000/-	₹. 6,49,000/-

:: 2 ::

12]	B.Sc. [Comp.Sci.], B.Sc.	Science and	₹. 4,12,500/-	₹. 74,250/-	₹. 4,86,750/-
	[I.T.], B.Sc.[Bio.Info.], B.Sc.[Bio.Tech.], B.C.A.[Science Faculty].	Technology	Per Course		
12A]	B. Voc. Courses approved by UGC	Respective faculties of Course	₹. 13,200/- Per Course	₹. 2,376/-	₹. 15,576/-
13]	Mass Communication and Journalism etc. for Professional Courses. (M.M.C.J.)	Inter-disciplinary Studies.	₹. 2,06,250/- Per Course	₹. 37,125/-	₹. 2,43,375/-
13A]	B. A. M.C.J.	Inter-disciplinary Studies.	₹. 1,03,125/- Per Course	₹. 18,563/-	₹. 1,21,688/-
14]	All Post Graduate Courses for Science Faculty	Science and Technology	₹. 2,06,250/- Per Course	₹. 37,125/-	₹. 2,43,375/-
15]	All Post Graduate Courses for Education and Physical Education Courses.	Inter-disciplinary Studies.	₹. 6,87,500/- Per Course	₹. 1,23,750/-	₹. 8,11,250/-
16]	B.C.M., D.C.A., M.C.M., M.P.M., D.B.M., D.L.L., D.P.M., etc. Post Graduate Courses for Management Faculty.	Commerce and Management	₹. 4,12,500/- Per Course	₹. 74,250/-	₹. 4,86,750/-
17]	M.A., M.Com.	Course wise respective Faculties	₹. 1,31,250/- Per Course	₹. 23,625/-	₹. 1,54,875/-
18]	All Post Graduate Courses for Pharmacy and Engineering.	Science and Technology	₹. 4,12,500/- Per Course	₹. 74,250/-	₹. 4,86,750/-
19]	Fine Art P.G. Course	Inter-disciplinary Studies.	₹. 1,03,125/- Per Course	₹. 18,563/-	₹. 1,21,688/-
20]	Fine Art U.G. Course	Inter-disciplinary Studies.	₹. 68,750/- Per Course	₹. 12,375/-	₹. 81,125/-
21]	Post Graduate Courses Of Law.	Inter-disciplinary Studies.	₹. 4,12,500/- Per Course	₹. 74,250/-	₹. 4,86,750/-

Note: -

- 1. Processing fees of opening New College / New Course / New Division / New Faculty's one time remitted by management of colleges/ Recognized Institutions shall not be refundable at any cost to applicant or management of colleges.
- 2. The processing fees for opening a New College, New Course, New Division, or New Faculty shall be revised annually with a 2% increase. These fees shall be reviewed every five years at the time of the publication of the University's Five-Year Perspective Plan.
- 3. There will be an annual increase of 2% in the fees effective from the upcoming academic year 2027-28. This increment will be applicable at the beginning of each academic Year.



DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, CHHATRAPATI SAMBHAJINAGAR

Statement showing the processing fees pertaining to Revised Ordinance-152 for Opening under extension of New Subject / New Method / Specialization etc. and First Affiliation and Continuation Affiliation fees of said subject for academic Year 2026-27 to 2030-31.

O.152:- Processing fees remittance by management of affiliated colleges / Recognized Institutions for Opening under extension of New Subject / New Method / Specialization etc. and First Affiliation and Continuation Affiliation fees of said subject as per mention in following table.

Sr. No.	Name of Course	Name of Faculty	Revised Fees Per Subject/Method/ Specialization	GST 18% Fees Per Subject/Method/ Specialization	Total Fees Per Subject/Method/ Specialization (Inclusive of 18% GST
1]	Arts & Social	Humanities	₹. 6,563/-	₹. 1,181/-	₹. 7,744/-
	Sciences		Per Subject		
2]	Commerce	Commerce and Management	₹. 6,563/- Per Subject	₹. 1,181/-	₹. 7,744/-
3]	Science	Science and Technology	₹. 9844/- Per Subject	₹. 1772/-	₹. 11616/-
4]	Vocational	Respective	₹. 10,313/-	₹. 1,856/-	₹. 12,169/-
. 220	Degree and Certificate Courses approved by UGC	Faculties	Per Subject		
4]	B.Sc.	Science and	₹. 10,313/-	₹. 1,856/-	₹. 12,169/-
A)	Vocational Science	Technology	Per Subject	ar y to 1 old T. Ht. "	I.E.
5]	Education	Inter-disciplinary Studies.	₹. 48,125/- Extension of Affiliation and	₹. 8,663/-	₹. 56,788/-
			₹. 9,625/- Per Method	₹. 1,733/-	₹. 11,358/-
6]	Physical Education	Inter-disciplinary Studies.	₹. 48,125/- Extension of Affiliation and	₹. 8,663/-	₹. 56,788/-
			₹. 9,625/- Per Method	₹. 1,733/-	₹. 11,358/-
7]	Law	Inter-disciplinary Studies.	₹. 48,125/- Extension of Affiliation and	₹. 8,663/-	₹. 56,788/-
			₹. 9,625/- Per Method	₹. 1,733/-	₹. 11,358/-
8]	Management Science	Commerce and Management	₹. 55,000/- Extension of Affiliation and	₹. 9,900/-	₹. 64,900/-
			₹. 20,625/- Per Specialization	₹. 3,713-	₹. 24,338/-

:: 2 ::

9]	Engineering	Science and	₹. 68,750/- Extension	₹. 12,375/-	₹. 81,125/-
		Technology	of Affiliation and		
			₹. 27,500/- Per	₹. 4,950/-	₹. 32,450/-
			Branch		
10]	Architecture	Science and	₹. 68,750/- Extension	₹. 12,375/-	₹. 81,125/-
		Technology	of Affiliation and		
			₹. 27,500/- Per	₹. 4,950/-	₹. 32,450/-
		1110111	Subject		
11]	Fine Art	Inter-disciplinary	₹. 48,125/- Per	¥ 0.6624	¥ 5 (700)
		Studies.	Subject/	₹. 8,663/-	₹. 56,788/-
			Specialization.		
			₹. 9,625/- Per Subject	₹. 1,733/-	₹. 11,358/-
12]	Pharmacy	Science and	₹. 82,500/- Extension	₹. 14,850/-	₹. 97,350/-
		Technology	of Affiliation and		
		N 1000000	₹. 27,500/- Per	₹. 4,950/-	₹. 32,450/-
			Specialization	The second secon	

Note: -

- Processing fees of opening under extension of New Subject / New Method / Specialization etc. one time remitted by management of colleges shall NOT BE REFUNDABLE AT ANY COST to applicant or management of colleges.
- 2. The processing fees for introducing a New Subject, New Method, Specialization, etc., under extension shall be revised annually with a 2% increase. These fees shall be reviewed every five years at the time of the publication of the University's Five-Year Perspective Plan.
- 3. There will be an annual increase of 2% in the fees effective from the upcoming academic year 2027-28. This increment will be applicable at the beginning of each academic Year.
- **4.** GST is subject to change as per Government rules and regulations.

--=**=--

F*04042025/-

O. 152 [A]:- CONTINUATION OF AFFILIATION / RECOGNITION:-

[1]	[a]	Every Permanent Affiliated Colleges seeking continuation of Affiliation/ Recognition shall pay a Fee of continuation affiliation fee for all Permanent courses (Per Course Separately)	₹. 12,980/- For all Permanent Courses (Inclusive of 18% GST)
	[b]	Permanent Course with a New Non-Granted Subject (per Subject)	As per Ord. 152 for New Subject
[2]		sed Prices of Various Application Forms Available on v.bamu.ac.in	
	[a]	Application form for grant of Permission of New College/ Institution	₹. 1,298/- (Inclusive of 18% GST)
	[b]	Application form for First time Affiliation	₹. 1,298/- (Inclusive of 18% GST)
	[c]	Application form for continuation of Affiliation/Continuation of Recognition/Affiliation for Natural Growth/Extension of Affiliation/ Extension of Recognition.	₹. 1460/- (Inclusive of 18% GST)
	[d]	University Perspective Plan	₹. 1,298/- (Inclusive of 18% GST)

Statement showing the fees for Govt. Recognized Institutes Annual Affiliation Fees / Continuation and Extension Fees For Academic Year 2026-27 to 2030-31

Sr. No.	Name of Course	Revised Fees	GST 18% Fees	Total Fees (Inclusive of 18% GST
[1]	Non Professional Courses	₹. 1,31,250/-	₹. 23,625/-	₹. 1,54,875/-
[2]	Professional Courses	₹. 2,06,250/-	₹. 37,125/-	₹. 2,43,375/-

Statement showing one time fee for Autonomous Colleges at the time of Granting Autonomy (Fees for Five Years) For Academic Year 2026-27 to 2030-31

Sr. No.	Name of Course	Revised Fees	GST 18% Fees	Total Fees (Inclusive of 18% GST
[1]	Non Professional Courses &	₹. 50,000/-	₹. 9,000/-	₹. 59,000/-
[2]	Professional Courses		<. 9,000/-	X. 39,000/-

Note : -

1. The Autonomous College shall pay fees as per the fee structure of the affiliated college until the last batch passes out.

STATEMENT SHOWING THE UNDER GRADUATE AND POST GRADUATE COURSES

FEES FOR PERMANENT AFFILIATION [for Five Years Only]

FROM ACADEMIC YEAR 2026-27 to 2030-31

A]	Under Grad	uate Courses	Amount of Fees for Academic Year		
Sr. No.	Name of Course	Name of Faculty	ANNUAL FEES (Inclusive of 18% GST) (up to 2 Divisions/ 1 Branch)	PERMANENT FEES (Inclusive of 18% GST) (up to 2 Divisions/ 1 Branch)	
1]	Arts & Social Sciences	Humanities	₹. 27,878 x 5 =	₹. 1,39,390/-	
2]	Commerce	Commerce and Management	₹. 27,878 x 5 =	₹. 1,39,390/-	
3]	Science	Science and Technology	₹. 34,073 x 5 =	₹. 1,70,365/-	
4]	Education	Inter-disciplinary Studies.	₹. 64,900 x 5 =	₹. 3,24,500/-	
5]	Physical Education	Inter-disciplinary Studies.	₹. 48,675 x 5 =	₹. 2,43,375/-	
6]	Law	Inter-disciplinary Studies.	₹. 64,900 x 5 =	₹. 3,24,500/-	
7]	Management Science	Science and Technology	₹. 64,900 x 5 =	₹. 3,24,500/-	
8]	Engineering	Science and Technology	₹. 81,125 x 5 =	₹. 4,05,625/-	
9]	Architecture	Science and Technology	₹. 81,125 x 5 =	₹. 4,05,625/-	
10]	Pharmacy	Science and Technology	₹. 1,29,800 x 5 =	₹. 6,49,000/-	
11]	Fine Art	Inter-disciplinary Studies.	₹. 40,563 x 5 =	₹. 2,02,815/-	

B]	All Post Graduate Courses [Fees For Per Course]		Amount of Fees for Academic Year	
Sr. No.	Name of Course	Name of Faculty	ANNUAL FEES	PERMANENT FEES
140.	revientari)		(Inclusive of 18% GST)	(Inclusive of 18% GST)
			(up to 1 Divisions/ 1 Branch)	(up to 1 Divisions/ 1 Branch)
1]	Arts & Social Sciences	Humanities	₹. 15,488 x 5 =	₹. 77,440/-
2]	Commerce	Commerce and Management	₹. 23,232 x 5 =	₹. 1,16,160/-
3]	Science	Science and Technology	₹. 30,975 x 5 =	₹. 1,54,875/-
4]	Education	Inter-disciplinary Studies.	₹. 40,563 x 5 =	₹. 2,02,815/-
5]	Physical Education	Inter-disciplinary Studies.	₹. 32,450 x 5 =	₹. 1,62,250/-
6]	All Professional Courses	Course wise respective Faculties	₹. 1,62,250 x 5 =	₹. 8,11,250/-

Ord. 150, 151, 152 & 152 [A], [B] for Revised Affiliation Fees for 2026-27 to 2030-31

7]	LL.M.	Humanities	₹. 40,563 x 5	=	₹. 2,02,815/-
8]	M. Voc.	Science and Technology	₹. 24,338 x 5	=	₹. 1,21,690/-

NOTE:-

- The Permanent Affiliation Fees one time remitted by management of colleges SHALL NOT BE REFUNDABLE AT ANY COST to applicant or management of colleges.
- 2. The Permanent Affiliation Fees remitted by management of college shall be five times of the Annual Affiliation Fees as per mention in Ordinance-150 in respect of annual affiliation.
- 3. The Permanent Affiliation Fee shall be revised annually with a 2% increase. However, it shall be reviewed every five years at the time of the publication of the University's Five-Year Perspective Plan.
- 4. Permanent affiliation is granted for a duration of five years. Upon completion of this period, the college must apply for a committee review to assess its compliance with the permanent affiliation parameters. Upon approval by the committee, the college shall be required to pay five times the prescribed fee for renewal.
- 5. The above Permanent Affiliation fee structure applies only for two divisions / one branch in the UG course and one division of one branch in the PG course. For **Each** additional division or branch, the college must pay an additional fee 6490 x 5 times (Inclusive GST 18%)
- 6. There will be an annual increase of 2% in the fees effective from the upcoming academic year 2027-28. This increment will be applicable at the beginning of each academic Year.
- 7. GST is subject to change as per Government rules and regulations.

O. 152 [B]:- VARIOUS PROCESSING FEES:-

No	Details	Processing Fees	GST 18% Amount	Total Amount
				(Inclusive of 18% GST
1	NOC for AICTE	₹. 10,000/-	₹. 1,800/-	₹. 11,800/-
2	Academic & Administrative Audit	₹. 15,000/-	₹. 2,700/-	₹. 17,700/-
3	NOC for New Course	₹. 10,000 /- Per Course	₹. 1,800/- Per Course	₹. 11,800/- Per Course
4	NOC for increase intake for professional Course	₹. 10,000 /-	₹. 1,800/-	₹. 11,800/-
5	NOC for increase intake for Non- professional Course	₹. 5,000 /-	₹. 900/-	₹. 5,900/-
6	NOC for Change in Name of College /Institute	₹. 30,000 /-	₹. 5,400/-	₹. 35,400/-
7	NOC for Marge of College / Institute	₹. 40,000 /-	₹. 7,200/-	₹. 47,200/-
8	NOC for University Change	₹. 40,000 /-	₹. 7,200/-	₹. 47,200/-
9	NOC for Migration (Shifting College / Institute)	₹. 30,000 /-	₹. 5,400/-	₹. 35,400/-
10	NOC for Trust / Society Transfer	₹. 25,000 /-	₹. 4,500/-	₹. 29,500/-
11	NOC for Closure of College	₹. 50,000 /-	₹. 9,000/-	₹. 59,000/-
12	NOC for Closure of Subject/Division/Faculty/Course	₹. 10,000 /-	₹. 1,800/-	₹. 11,800/-
13	NOC for Decrease in intake of Students	₹. 10,000 /-	₹. 1,800/-	₹. 11,800/-
14	NOC for Change in nomenclature per Course	₹. 10,000 /-	₹. 1,800/-	₹. 11,800/-
15	AISHE/MIS/Scholarship Apex Bodies/NAAC/UGC 2(F) 12 (B) or any other per Certificate	₹. 500 /-	₹. 90/-	₹. 590/-
16	S.A.R. Processing Fee	₹. 3,000 /-	₹. 540/-	₹. 3,540/-
17	S.A.R. Late Fees	Processing Fees + ₹. 5,000 /-	₹. 900/-	Processing Fees + ₹. 5,900/-
18	Offline Extra Challan One Time	₹. 500 /-	₹. 90/-	₹. 590/-
19	NOC for affiliation in Other University /			
	NOC from Other University to affiliated Dr. BAM University Processing Fee	5,000/-	₹. 900/-	₹. 5,900/-
20	NOC for CET Cell	₹. 5,000 /-	₹. 900/-	₹. 5,900/-
21	Duplicate Affiliation Certificate	₹. 500 /-	₹. 90/-	₹. 590/-
	1			•

22	Duplicate AAA Certificate Copy	₹. 500 /-	₹. 90/-	₹. 590/-
23	Affiliation Letter Language Translate Copy	₹. 1,000 /-	₹. 180/-	₹. 1,180/-
24	CAS / CAS Camp Fees (Ord. 2165)	₹. 3,000/-	₹. 540/-	₹. 3,540/-
25	API Score Checking Fees	₹. 5,000/-	₹. 900/-	₹. 5,900/-

Report Submitted pertaining to draft of amended Ordinance-150, 151, 152 and 152 [A] [B] in respect of first annual affiliation fees, processing fees of new college / New course / New Division, Opening New Subject under extension and Permanent Affiliation Fees respectively as per mention in said draft. Committee has recommended the various fees in corporate of said ordinance should be applicable with due process from the Academic Year 2026-27 to 2030-31.

F*04042025/-